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UPCOMING ONLINE BATCHES

October 2022

12 OCT 2022 19 OCT 2022 26 OCT 2022

10:30 AM to 12:30 PM 03:00 PM to 05:00 PM 08:00 AM to 10:00 AM

BANK ONLINE LIVE CLASS BANK ONLINE LIVE CLASS BANK ONLINE LIVE CLASS

07:30 PM to 08:30 PM 10:30 AM to 12:30 PM 05:30 PM to 07:20 PM

SSC ONLINE LIVE CLASS SSC ONLINE LIVE CLASS SSC ONLINE LIVE CLASS

BILINGUAL BILINGUAL BILINGUAL

18 OCT 2022 26 OCT 2022

CCC ONLINE COURSE BANK ONLINE LIVE CLASS

BANK ONLINE LIVE CLASS
BENGALI+ENGLISH

CCC ONLINE COURSE

BILINGUAL

12 OCT 2022

BILINGUAL BENGALI+ENGLISH

& www.mahendras.org e  7052477777/7052577777
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Probability P (E) =

Favourable events

Total events

O<P(E)= 1










There are 3 red, 4 black and 5 green balls in a bag. If three balls are taken
out from bag then find the probability of getting-

Uh Yol A 3 AT, 4 Flell IR 5 & 3¢ | IS Jor A & A=
Ie, fAPTell STl ®, dl UiiRedr ITd HifAT-

All balls are black?

gt 3¢ relY g@l?




There are 3 red, 4 black and 5 green balls in a bag. If three balls are taken
out from bag then find the probability of getting-

Uh Ul H 3 olel, 4 el 3R 5 & 96 &l TG It A @ d9
ie, f[Awrell St €, ar urfi@edr A1d Hifae-
one is black and other two are red?

Teh Plell & 3R 31T &l ol &i?




There are 3 red, 4 black and 5 green balls in a bag. If three balls are taken
out from bag then find the probability of getting- .

Th Jol H 3 oTcl, 4 Plell 3R 5 &1 91 &l TG Aol A @ diA
Jic, fAeprel STl €, af wiRear Jra Hifeie-

one is black ?

Tch Ploil @l?




There are 3 red, 4 black and 5 green balls in a bag. If three balls are taken
out from bag then find the probability of getting-

Uh dF & 3 o, 4 plall 3R 5 & 3ic ¢l IE IS H @
& Bl S &, A UIRkar Ad HifaTT-

All balls are of different colours?

T I 3TAIT-3To19T LI hT &I ?




There are 3 red, 4 black and 5 green balls in a bag. If three balls are taken
out from bag then find the probability of getting-

Th Vol H 3 oTed, 4 Plell AR 5 ﬂé%lﬂﬁﬁﬁﬁﬁ?ﬁa
¥& el St & ar WIidedT a1d P

All balls are of same colour?

AT I1¢ Th & 9T hT & ?




There are 3 red, 4 black and 5 green balls in a bag. If three balls are taken

out from bag then find the probability of getting- ’
uh Ao F 3 AT, 4 proll IR 5 & I o I Iy A T =

Jic, [A®rell STdr ©, dl UTRIehdT ATd hIfaiT-

None of the balls are of black colour?

s A1 3G Pl 9T &I &I &l ?




There are 3 red, 4 black and 5 green balls in a bag. If three balls are taken
out from bag then find the probability of getting-

Uh Yot A 3 oTel, 4 Flell 3R 5 & ¢ &l Iig Aol & & A
3¢ TRl ST &, d UTiIhdl ATd hiTaT-

All balls are not of black colour?

T IIC Prol [T HT Al &l ?




There are 3 red, 4 black and 5 green balls in a bag. If three balls are taken
out from bag then find the probability of getting-
All balls are not of black colour?




There are 3 red, 4 black and 5 green balls in a bag. If three balls are taken
out from bag then find the probability of getting-

Uh Yol A 3 oTel, 4 Flell 3R 5 & ¢ ol Iig Aol # & A
3¢ Tl ST &, d UTiAhdl AT hiTaTT-

At least one ball is of green colour?

BhH O HH THh I &L T HI & ?




There are 3 red, 4 black and 5 green balls in a bag. If three balls are taken out
from bag then find the probability of getting-
At least one ball is of green colour?




A bag contains 35 balls of three different colors i.e. red, oranges and pink. The
ratio of red balls to orange balls is 3:2 respectively and probability of choosing a
pink ball is 3/7. If two balls are picked from the bag then find the probability
that one ball is orange and one ball is pink ?

U 9T H Il 3TelIT-316T 0 ITAT offel, AR AR et &7 35 g
el Wﬂﬁwmﬂﬁﬁﬁgld.mmr: 3:2 & 3R eIl Jig
gt 1 UIehdr 3/7 &1 I Tt F & & 91 Aaprel STt &, o
Uch Jig & ARG 3R Th Jig & IAre! gl d gifehdr A1 hifore?




A bag contains 35 balls of three different colors i.e. red, oranges and pink. The

ratio of red balls to orange balls is 3:2 respectively and probability of choosing a

pink ball is 3/7. If two balls are picked from the bag then find the probability
that one ball is orange and one ball is pink ?




There are two bags. One bag contains 4 red and 5 black balls and the other
bag contains 6 red and 7 black balls. If one ball is taken out from each bag
then find the probability of getting-

ar o991 1 Th Vol H 4 oIl 3R 5 Pl 3¢ § IR oy I A 6
ool 3R 7 @rell 3¢ &1 IS ¥ A T T dic fAprel AT §,
al UTR—IehdT AT hIfST-

Both balls are of red colour ?

aldl Jic, ofTel TaT &l @I ?




There are two bags. One bag contain 4 red and 5 black balls and another bag
contain 6 red and 7 black balls. If one ball taken out from each bag then find

the probability of getting- . .
2T 40 B T A% B 4 A AR 5 P M E IR Gw Ny ¢

ol 3R 7 Frell 3¢ &1 ITE UTp T @ T I Abrell AT &,
al aTRihdT ATd HhIfoiu-
Red ball from 1t ba%%nd black ball from 2" bag?

:
< 3R ZEx 41 & el e




There are two bags. One bag contain 4 red and 5 black balls and another bag
contain 6 red and 7 black balls. If one ball taken out from each bag then find
the probability of getting- N .

&Y AT E| U A9 3 4 e 5 e 9 E R aw A+ 6
el 3R 7 @rell 9ig &1 3¢ ucde dof & T dig [Haprall SITdT &,
SILURESIRSIGRCIIG S

one ball is red and another is black?

Th Il ol & 3R @ Frell 8




There are two bags. One bag contain 4 red and 5 black balls and another bag
contain 6 red and 7 black balls. If one ball taken out from each bag then find
the probability of getting-

one ball is red and another is black?




A bag contains 10 black and 6 pink balls. A ball is taken out and not retained to it.
Then find out the probability that the ball is black in first draw and the ball is pink in
second draw?

Ueh 9T H 10 rell IR 6 IeTel g &1 Teh Jig Tlehrell STl & 3
3EA gl @I ST &1 Ugel 3f H 3G o dlell @l iR ga o # Jig
& I B AT UIRADdT AT HIToTT?




A bag has 10 red balls, 5 green balls and X’ yellow balls. If the probability of
drawing 2 red balls from the bag is 13/57 more than the probability of
drawing 2 yellow balls then find total balls in the bag?

Teh 9T H 10 ol J1G, 5 & 91 IR 'x Urell 3¢ g1 Ifg A 4 2
el 3¢ fAeprelel hr giifehdr 2 dielt diat &l fAaprera hr rilesdr
¥ 13/57 3Q® &, d Jol A $oT 91 AT Hifow?

A.15
B.25
C. 20
D.19
E. 30



Directions: Read the given information carefully and answer the following

esti
%IﬁZTIOQc% IS SATADPRI Pl LAY Ue AR Aeafaf@a usl &

LA
A box contains Red, Blue, Green, and Black marbles. The number of Red

marbles is half the number of black marbles. The number of blue marble is
1/3rd of the number of Red marbles and Green marbles are 2/3rd of Black

marbles. There are 70 marbles in the box. ‘
Uh dirg H oo, SATell, T AR Plell B &| ol el hl J&IT
Tl hal hT JEAT 34T‘éfr ol el AT T &AT ol bl hr

H@TEFHH%W%‘IWE%WW« Bl hr JEIAT &I
2/3 &l 9 # 70 BT E




Three marbles are drawn randomly then find the probability of getting two black
and one blue marble?

did hd e dT [ddrel STd &, dl &l dlel 3R Th el dd Utd &l
I UTRIhdT AT PIToTU?




When two marbles are drawn randomly from the box then find the probability

of getting either all Red or all Green marbles? .
a‘er%_g@ A T hY IGreesdr Adrer Sa €, a ar ar gy orer am

T & P UTT Bl D GTRIBAT AT HITAT?




